
   

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

The problem of the week can also be found online here: 

 

PROBLEM#660
Posted on: 9 Oct

Due on: 16 Oct

The diagram shows four overlapping squares that have sides

of lengths 5 cm, 7 cm, 9 cm and 11 cm. What is the difference

between the total area shaded grey and the total hatched area?

What is the difference between the total area shaded grey and
the total hatched area?

[SOLUTION]

151. What can T be?

Each of the numbers from 1 to 10 is to be placed in the circles so
that the sum of each line of three numbers is equal to T. Four
numbers have already been entered.

Find all the possible values of T.

[SOLUTION]

152. Increases of 75%
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